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The Actual Question Paper Contains 40 Questions. The Duration of the Test Paper is 60 Minutes

1. Shortcut key to find text is

“Ja) Jeg laf la

(A) Ctrl + N (B) Ctrl+0O (C) Ctrl+F (D) Ctrl+C
(E) None of these

2. Ctrl+ X and Ctrl +V combination is used to and contents of a cell.

(A) Cut, paste (B) Copy, paste (C) Cut, copy (D) copy, save
(E) None of these

3. The address of a website is typed in?
(A) Address bar (B) Tool bar (C) Status bar (D) Task bar
(E) None of these

4. is the longest key on the keyboard?
(A) Altkey (B) Backspace key (C) Caps look key (D) Space bar key
(E) None of these

5. .pngis a default extension for ?
(A) MS-Paint (B) MS-Word (C) MS-Power Point (D) MS-Excel

(E) None of these

6. BSNL, Airtel and Reliance are example of ?
(A) Internet Service Provider (B) Web site
(C) Web Browser (D) Operating System
(E) None of these



7. The is the physical path over which a message travels.
(A) Protocol (B) Medium (C) Signal (D) All the above
(E) None of these

8. Microsoft word underlines possible grammar errors in colour.
(A) Orange (B) Blue (C) Red (D) Green
(E) None of these

9. Groups of instruction that directs a computer is called?
(A) Storage (B) Memory (C) Logic (D) Program
(E) None of these

10. A is a set of rules to govern data communication.
(A) Forum (B) Protocol (C) Standard (D) All of the above
(E) None of these

11. option is used to close our account after finishing work?
(A) Sign out (B) Inbox (C) SignIn (D) Login

(E) None of these

12. Which of the following is an electromechanical computer?
(A) MARK-1 (B) Abacus (C) Pascaline (D) Difference Engine
(E) None of these

13. Which topology requires a central controller or hub?
(A) Mesh (B) Star (C) Bus (D) Ring
(E) None of these

14. Which of the following is not a term of MS-Excel?
(A) Cells (B) Rows (C) Columns (D) Document
(E) None of these

15. An excel document is called a ?
(A) Worksheet (B) Workbook (C) Cell (D) Spreadsheet
(E) None of these
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